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1-7 Single-Loop or Series Circuit
>~ D
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I8 EXAMPLE 1-11 For the circuit of Figure 1-24, determine (a) loop current, (b) voltages across all resis-

tances, and () power delivered or absorbed by each component in the circuit.
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i@ EXAMPLE 1-12 For the circuit of Figure 1-25, determine (a) loop current, (b) voltages across all resis-
tances, (c) voltage across the current source, and (d) power delivered or absorbed by each
component in circuit.
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1-8 Single Node-Pair or Parallel Circuit

- i@ EXAMPLE 1-13

FIGURE 1-28

Circuit of Example 1-13.
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For the circuit of Figure 1-28, determine (a) voltage across the circuit, () gnrrents thmugh..-"i
the three resistances, (¢) current through voltage source, and (d) all values of power deliy-
ered and power absorbed. :
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i EXAMPLE 1-14 For the circuit of Figure 1-29, determine (a) voltage across the node pair, (b) current
through each of the resistances, and (e) all values of power delivered and absorbed.
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1-9 Voltage and Current Divider Rules
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